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O Which of the following three-dimensional figures ™ 4

cannhot have a circular cross section?

A. 7NA1E38 Hexagonal prism
B. B3 Cylinder
C. IXES Sphere

D. Bl#t#e Cone
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Siu Mei has a solid which has four faces of the same
shape and size. ltis a

—

A. 1E73kE Cube

B. =/&4E32 Triangular prism

C. iA#EE Pentagonal pyramid
D. =/&##52 Triangular pyramid
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What is the height of the paper box in cm? -
Wi = 60 cm?

4

?CmJ: B = 360cm3
Volume= 3600m
A. 12cm

B. 10cm
C. 6cm

D. 5cm W@
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A company has 100 employees and the average age
IS 40. There are 40 male employees whose average
age is 50 years old. What is the average age of
female employees in the company?

A. 29
B. 30

C. 31 %
@ D. 33
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1. A
2.D
3.C
4. D

NO



